
Component´s atrributes + options

a) Height [LenZ] (calculated from point A)
b) Length [LenX] (calculated from point A)
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4 - All formulas work except from one
- PosX of group 7 only works with a value of „100“

- If i switch value to >100 it´s located too far
right from the axis/base

- If i switch value to <100 it´s located too far
left from the axis/base

- It seems that PosX is calculated on base of the value
here (as if value „100“ would be sth like a „0“ on a 
scale)

1) PosX, Y, Z =0 -> works!
2) PosX, Y, Z =0 -> works!

LenZ =4KantStahlrohr!Hoehe-12 -> works!
3) PosX, Y =0 -> works!

PosZ =4KantStahlrohr!Hoehe-30 -> works!
4) PosY, Z =0 -> works!

PosX =4KantStahlrohr!Laenge-100 -> works!
5) PosY, Z =0 -> works!

PosX =4KantStahlrohr!Laenge-100 -> works!
LenZ =4KantStahlrohr!Hoehe-12 -> works!

6) PosY =0 -> works!
PosX =4KantStahlrohr!Laenge-100 -> works!
PosZ =4KantStahlrohr!Hoehe-30 -> works!

7) PosX =0 -> fails!
PosY =0 -> works!
PosZ =4KantStahlrohr!Hoehe-30 -> works!
LenX =4KantStahlrohr!Laenge-24 -> works!
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a) Height [LenZ] (calculated from point A)
b) Length [LenX] (calculated from point A)

A

- All 7 groups within the component have the axis (base) at 
the same point (point A in the screenshot below)

- Little confused about a changement in displaying the
formulas

- Entered formula was [=4KantStahlrohr!Laenge-100]
- Result is [0.0]


